Initial condition

able createc

able created

Question 1. Which result will be after the second session? (choose
ONe Or More answers)

1. First session

DEPOIDRSCE>insert into tablel valvas(l, 'field 1'):
1 crpoxa ceazama. 1 line created

DEPOEDRSCE>insart into tablel values(2, ‘field 2'):
1 cwpexa ceazana. 1 line created

DEPCEDRSCR>

Second session (after some time of the executed 5QL in first session):

DEFMDRSCE>salect * from tablael:

Bo BTOpO# ceccuu 3anpoc BEPHET ofiHy cTpoky In second session query return one
Bo BTOpOW ceceuu 3anpoc BepHET ABe cTpokM In second session query return two
Bo BTOpoi ceccuu 3anpoc BepHET Tpu cTpokk In second session query return thre
Bo BTOpO# ceccun 3anpoc Huuero He sepieT  In second session query does't retu

Bo BTOpOW ceccun cepeep BepHET owunbky I second session server return erro
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Opyroe: Other




Bonpoc N22. Kakue ByayT pesynbTaTel BO BTOPOW U TRETbEN ceccuax?
1I6EpUTE OO WH MW HECKOMBKO DTBETOB
m?c Wi rg'su"ltsqn seconﬂ ando tﬁﬁdo Si}ESSiDnS?I:ChDDSE one or

more answers)
2. Tlepras cecons

First session

DEPORDRSCE>salect * from tablel for updata:

Second session (after some time of the executed 5QL in first session)

DEPOADRSCA>salect * from tablel

Third session (after some time of the executed SQL in first session)

DEFOADRSCE>deleta from tablel:

Bo BTOpOi cecciv BepHET oaHy cTpoky |In second session return one line

Bo BTOpO# ceccuu BEPHET Be CTPOKM  |n second session return two lines

Bo BTopoi ceccuv BepHET Tpu cTpokm  |n second session return three lines

Bo BTOpPOWA cecciW He BePHET HW 0fHOMA cTpokK |n second session don't return any line
Bo sTopoi ceccuy BepHET owmBky |n second session return error

B TpeTbei ceccum yaanut ogHy ctpoky In third session delete one line

B TpeTbed ceccum yaanuT Aee cTpoki |n third session delete two lines

B TpeTbei ceccum yaanuT Tpu ctpoku |n third session delete three lines

B TpeTbeh ceccuu He yaanuT Hi oaHoi cTpokm In third session will not delete any line

B TpeTbel ceccum cepsep BepHET OWKEKY |n third session server return error
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Opyroe: Other



Bonpoc N23. Kakoit ByneT pe3ynsTaT Bo BTOpol ceccun? (BbiGepuTe 0gMH UNK

HecKonbKo 0TBeToB) Which result will in second session?

Choose one or more answers
3. Ilepsas cecens First session

DEPCEDRSCE>select * from tablel:

ID_NUM NOTE_

1
2 field 2
3 field 3

DEPCADRSCR>delete from tablel whers id num = 1;

1 erporxa yaanama. 1 line is deleted
DEFOADRSCE>savepoint pl;

Touxa orxara cosmama. ROllback point is created
DEFORDRSCE>

Second session (after several time after executed SQL in first session)
Bropasa cecons (uepes HekoTopoe BpeMa nocae uenoanenna SQL B nepsoii ceccun):

DEPOEDRSCE>select * from tablel;

D Bo BTOpPOW Ceccuu 3anpoc BepHET oaHy cTpoky In second session query return one line

any line
Bo BTOPOW CECCHW CepBep BEPHET DLIMGKY

Apyroe: Other
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Bo BTOpOit ceccuM sanpoc BepHET ABE CTPOKU  |n second session query return two lines

Bo BTOpO# Ceccuy 3anpoc BEPHET TPW CTROKK | second session query return three lines

Bo BTOPO# CECCUM 3aNpoC He BEPHET HU ofHy cTpoky In second session query will not return

In second session server return error



Bonpoc N2 4. Kakow 6ygeT pesynbTaT 80 BTopoi ceccumn? (sbibepute oguH unm
Heckonbko oteetos) Which result will be in second session? (Choose one
or several answers)
4. Tlepsas cecons First session
DEPOEDRSCB>select * from tablel for update nowait;

2 field 2
3 field 3

DEPOZDRSCB>

Second session (through several time after execution SQL in first sesssion)
TOpas ceccus (Mepes HEKOTopoe Bpems nocie nenostenns SQL B neproii ceccuu):

X

DEPOEDRSCB>delete from tablel where id num = 2 ;

(] Bo BTOpOI* Ceccum sanpoc yaanuT oaHy cTpoky In second session query delete one line
[[] Bo BTOpOI ceccum sanpoc yaanuT gse ctpoku In second session query delete two lines
] Bo sTopoi ceccuu sanpoc yaanuT Tpu ctpoku In second session query delete three lines

In second session query delete line where field ID_NUM = 2
[j Bo BTOpO# ceccum 3anpoc yaanuT CTpoky, rae none ID_NUM = 2

D Bo BTOpO# ceccum cepsep BEPHET OWMGKY |n second session server return error

[:] Opyroe: Other



Bonpoc N2 5. Kakoe GygeTt paznuuue B QaHHbIX, BO3BpallaemMblX 3anpocamm:

What difference in data, returned by queries?

select t2.id num, t2.qty, t2.paket name, t3.paket id, t3.note
from table2 T2
left join table3 t3 on t3.paket_id = t2.id_num

select t2.id num, t2.qty, t2.paket name, t3.paket id, t3.note
from table2 T2
right join table3 t3 on t3.paket id = t2.id num

H

select t2.id num, t2.qty, t2.paket name, t3.paket id, t3.note
from table2 t2
full join table3 t3 on t3.paket id = t2.id_mum

select t2.id pum, t2.qty, t2.paket name, t3.paket_id, t3.note
from table2 t2
inner join table3 t3 on t3.paket id = t2.id num

v

Answer
Mon oTBET

Bonpoc N2 6. HanuwwuTe SQL, KOTOPBIN BEPHET KONWYECTBO 3anucei B Tabnuue

TABLE3 ¢ nycTeim nonem PAKET_ID
Write 5QL, which return quantity of records in table TABLE3 with empty

6. field PAKET_ID

DEPOEDRSCE>desc tabled
sem Oyc=za? ™D
ID_WUM NOT WULL NUMBER
PAKET ID NUMBER
ROTE_ VARCHAR2 (10)
DEFOEDRSCE>

Answer

Mon oTBET



Bonpoc N? 7. HanwwwnTe SOL, KOTORLIA BepHET 3anuck M3 Tabnuus TABLES, 8

mww:_none PAKET |D He yHWKanLHO. . .
rite SQL, which return records from table TABLE3, in which field

7. PAKET_ID is not unique

DEPOEDRSCEB>dasc tablald

ID_NUM MOT WULL NUMBER
PAFET_ID NUMBER
HOTE_ VARCHARZ (10)
CEPO{DRSCE>
Mo#h oTeeT

Write SQL, which return size of
salary (field salary) each
employee (field emp_name)
on 01 November 2019 (dates

Bonpoc N28. Hanwwmte SOL, KOoTopsin BepHET pasMep 3apaboTHol nnatsl (none
salary) kaxgoro paGotHuka (none emp_name) No cocToaHMio Ha 01 Horbpa 2019
ropa (gara usmerera 3apaboTHOM NnaTel 8 none date_change).

8. of changed salary in field
DEPOEDRSCEB>SELECT EMP_NAME, SALARY, DATE CHANGE data change}
FROM SALARY SIZE —
EMP_NAME SALARY DATE CHANGE
mETPOB PETROV 1000 2019-09-04 15:55:12
otmopos SIDOROV 2200 2019-07-17 15:55:31
BACENEHH VASECHKIN 1500 2019-10-22 15:55:42
BACENKHH VASECHKIN 2000 2019-11-20 15:55:54
aqporoe SIDOROV 1700 2019-11-26 15:56:02
maceqrHH VASECHEIN 1250 2019-12-02 15:56:15
nerros PETROV 3500 2019-12-08 15:56:25
oiporos SIDOROV 2450 2019-12-25 15:56:36
pacEvrMHVASECHKIN 2450 2019-12-29 15:56:46
9 rows selected
DEPORDRSCB>
Mo# oTeeT

Bonpoc N29. [na tabnuuel TABLET HeoBxonumMo caenaTe NpagMno: B Nnone For table TABLE1 nees make rule: In
NUM_ID gonkHbl BHOCHTECA TONBKO YHUKANBHBIE NONOKUTENBHBIE 3HAYEHWA field NUM_ID should put only

OTNHYHBIE OT HYNA. NpeanoxUTe pelleHWe ANA peany3alyWy Npasuna. unique positive values different
from zero. Suggest solution to
Moit oTBeT realize rule.

Bonpoc N210. Mpueeaute npumep auHamuseckoro SOL. Give example of dynamic SQL

Mo#n oTBeT



